
1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

1) Y = 813 - 711 Y = 102

2) L + 716 = 934 L = 218

3) 303 = F - 306 F = 609

4) 696 - Q = 411 Q = 285

5) 989 + T = 1,000 T = 11

6) 868 - 611 = J J = 257

7) P - 121 = 249 P = 370

8) A = 1,000 - 511 A = 489

9) 206 = K - 382 K = 588

10) 396 = 303 + M M = 93

11) 79 + 851 = H H = 930

12) C + 561 = 678 C = 117

13) B - 126 = 662 B = 788

14) V = 954 + 12 V = 966

15) 953 - W = 936 W = 17

16) Z = 341 + 61 Z = 402

17) 126 + N = 863 N = 737

18) 964 = 990 - E E = 26

19) 309 + 197 = S S = 506

20) 377 = 482 - R R = 105

1. 102

2. 218

3. 609

4. 285

5. 11

6. 257

7. 370

8. 489

9. 588

10. 93

11. 930

12. 117

13. 788

14. 966

15. 17

16. 402

17. 737

18. 26

19. 506

20. 105

     

Find the value of the variable.

Add & Subtract Variables within 1,000
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1-10 95 90 85 80 75 70 65 60 55 50
11-20 45 40 35 30 25 20 15 10 5 0

1) Y = 813 - 711 Y = 102

2) L + 716 = 934 L = 218

3) 303 = F - 306 F = 609

4) 696 - Q = 411 Q = 285

5) 989 + T = 1,000 T = 11

6) 868 - 611 = J J = 257

7) P - 121 = 249 P = 370

8) A = 1,000 - 511 A = 489

9) 206 = K - 382 K = 588

10) 396 = 303 + M M = 93

11) 79 + 851 = H H = 930

12) C + 561 = 678 C = 117

13) B - 126 = 662 B = 788

14) V = 954 + 12 V = 966

15) 953 - W = 936 W = 17

16) Z = 341 + 61 Z = 402

17) 126 + N = 863 N = 737

18) 964 = 990 - E E = 26

19) 309 + 197 = S S = 506

20) 377 = 482 - R R = 105

1. 102

2. 218

3. 609
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5. 11
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Find the value of the variable.
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Modified 1-10 92 83 75 67 58 50 42 33 25 17
11-12 8 0

1) Y = 813 - 711 Y = 102

2) L + 716 = 934 L = 218

3) 303 = F - 306 F = 609

4) 696 - Q = 411 Q = 285

5) 989 + T = 1,000 T = 11

6) 868 - 611 = J J = 257

7) P - 121 = 249 P = 370

8) A = 1,000 - 511 A = 489

9) 206 = K - 382 K = 588

10) 396 = 303 + M M = 93

11) 79 + 851 = H H = 930

12) C + 561 = 678 C = 117

11 117 93 609

489 930 370 102

285 218 588 257

1. 102

2. 218

3. 609

4. 285

5. 11

6. 257

7. 370

8. 489

9. 588

10. 93

11. 930

12. 117

     

Find the value of the variable.

Add & Subtract Variables within 1,000
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